o
o
o

-400

> 500p =2000¢=
a E E E:
5 400F- #1500F
€ 300 gt
2 E ©1000F
A 200F- > F
x E B E
© 100E- S 500F
v F o
oF- E
R A need B | O D 5
~100¢- ~-500
-200F o
~300E--

q
=
o
o
(@]
o U A A R

o500 o
S F T I
@ 1:— @ L
OASE— 0.5:_
G: 1 M iiziii I A Al I M M ::2
10 1 10 0
5. Gev) b, GeV)
~ 5007 250007
Tk ER
2 400+ o I
=" Saooof.
3 o e
< 300 g I
> L b I
*© 200F %3000:
v E £ +
100F- £2000H
o A L
oF >
- e} L
F v1000[
-100F C
o208 o 9
g E IS E
o 2:— 14 E
2 0sf
G: C:'
~ 100 . £5000¢ =
o L : F
s F L S0t s
g % 3000F 8
= F : E 5]
A-100F+ V2000 5
o f 1000F &r500]
v C : o
-200F--H i g £
Eo| 100Gk 21000
~300F ~2000F N
C : _ e
T 3000 %1500
C 5 -4000F
o500 500
g 15F : 2
R SO § e«
0.55— 0.
C: L G.

1 A K i ..::2 Lo
! 10 o Gev)




	Contents
	Page 1


